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Review the Test-Taking Strategies section of this pook. Then answer the following '
questions. Read each question carefully and angwer with a correct choice or response.
Part A 5 Which statement is true about an isoline on an air

_ temperature field map?
1 The latitude of an observer on Earth’s surface can (1) It represents an interface of high and low

be determined by measuring the altitude of barometric pressures.

ris because Ijiarth has a (2) It indicates the direction of maximum
({1 ; Enearly spherical shape insolation.

{2} nearly circular orbit around the sun (3) Tt increases in magnitude as it bends
(-3? Ya_nable length of fiay , , .r"\f ""y_,:,outhwar a
{4 izii[‘l}f Coristant E)t':'i'i’()\.‘l GL FevOILELERY i

i—})f’!* connects points of equal alr temperature.

Which line best identifies the inieriace of the

& ~Which of the following items is a model?

. : git
. ithosphere and the troposphere? (1) _g/globe (3) ahand lens
- g Guter space Sun‘ft‘)(’ (2} aruler (4} a mineral specimen
2 D = 7 The following map represents an elevation field.
] TN EEES
Atmosphere

{Mot fo scale.)

n A (2) B 3 C 4y D

3 The following data table shows the altitude of
Polaris as recorded by Four obhservers at different

Tafind b ooy P e
SRR R atn LT U0

hich stalemaent is best supported by the F e P onn F _ _
naiion in the tahie? - r—’x;;ﬁﬂ__gz/ g@ < i
Chserver A was at the equator. 5 2203 522 -
Uhbservers A and B measured the alfitude % 1}801(—**—;— ;}?j &
~during dayhme hours. " 2 i
(3) Observers B and C measured the altitude at "
&—"the same latitude.
{4) Observers B, C, and D were in the Southern
Hemisphere.

k]

4 Which latitude and longitude coordinates %j i |
represent a location oprthe c})ptinent of Australia? S
{1} 20" N, 135" & (3) 7005, 135°E urd
O 27N, 135" wW

25, 135 W

P Adeanring § e




Base your answers to questions 8 through 12 on the A movement of volcanic ash occurred at an

following topographic map of an island, Poinis A altitude of 1.5 kilometers. In which layer of
through G represent locations on the island. Earth’s atmosphere did the ash cloud travel?
Elevations are in meters. (1) troposphere (3) mescsphere
(2} stratosphere (4) thermosphere
Atlantic

Ocean 14 What is the distance in degrees east or west of the

Bumemermh@ called?
( {1} longitude (3} equator
(2} latitade (4) altitude
15 The following diagram represents contour lines
on a fopographic map with cross-section Hne AR,

r

;?' #J’}/‘Jf!r

Which diagram best represents the topographic
proflle along line AB?

L T ’(L

(1} F {2} B
In which divection does the CindGer River flow? e o

(1) southeast (3} northeast
£2) wouthwest {4} northwest

(3)

Wo

Elevation (inl
Elevation {im)




: 16 What is the latitude of omt E to the neare
minute? [2} {)

17 What is the longitude of point E to tl_'_le nearest
minute? [2] 1 ) ’2 J g V‘

18 In which direction does Johnson River generally
flow? [1] Fd(\! v

19 What is the elevation of point H on the rim of the
crater of Mt, Halil in feet? [1] g WO { -

20 What is the distance along Lobeck River from

point A to point B to the nearest quarter-mile? Il]
e} e f i

D“'l
21 The following is a topographic map. l

C
C
A
N
H
Railroad
) P | (4) B
T T T T T T
oo 1 ? ’ e Which map view best represents the topography
What is the approximate length in kilometers of of this region? {1]
the railroad tracks shown on the map‘gl[l}______ & 1_ Base ym. answers fo questiam 23 thmugh 26 on the

‘j - L:,,\-
D

Pistance scale (ke
Contour interval 20 meters




24 State the highest possible elevationi theCnLarest

25

E
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=
=
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L

26

rerr

meter, for point B on the topographic map. [1]

On the following grid, draw a profile of the
topography along line AB shown on the map. [2]

28

620 nste e
/ Ohwd ETE
600 ~y — S
530 \
560 f
540 /
520 \ /’
SO i e
Lo 2 fn/"ye\
4an L
60 .'
A B

Use the following directions to calculate the
gradient of the slope between points X and Y on
the topographic map. f
{a) Write the equation for gradient. [1]
{b) Substitute data from the map into the
equation. [1] A
(c} Calculate the gradient and label it with the

proper units. [1] %
G My

SWErs iG q».zesuons Z7 and 4.6 on the

\_C:
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GETAMNE T IWED
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7 Which contour imterval s used on both

Opogr: 1phrt\maﬂa7
ft
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30t

40 ft

@)
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_ D e
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_ {_,{’ muiu -
2K

vwr’ﬁ"ﬁ&l. [ 541 &? QFGU‘
weather station data f
North America.

A stream begins to tlow downhill from point D
toward the depression. After a period of time, the
depression fills with water. Overflowing water
from the depression moves downhill toward
point C. Which topographic map shows the most
likely resulting change in the contour lines?

\.

several cities in eastern

P 1
L P

. Sault Ste.

29 On the weather map provided, draw isotherms

every 16°F, starting with 40°F and ending with
. J7F

Psutherims mest extend (o the edges of the

i, ll}.}

W




J—

30 Calculate the temperature gradient between ol RS If you traveled due westiry the northern

Richmond, Virginia, and Hatteras, Noril
Carolina, by following the directions below.

v e
(a) Write the equation for gradient.
(b) Substitute data from the map into the
equation. {1] R e
(¢} Calculate the average gradient and label
your answer with the correct units. [1]
31 In which city is the temperature gradient the
smallesf?
(1) Cincinnati e (3} Richmond
A2 New Orleaiis (4} Detroit

o — s n e
32 Skaie the fmnﬂra! MJ’mn‘}ahm bretw oot air

oy b
fommoraty

the map, [1]

Part C Lok M o

The planet in the following paragraph is ﬁctis:)ﬁﬂ‘lle;?.{7
Use the information in the paragraph and your
knowledge of earth science to answer questions 33
through 38.

Glick is a planet in a solar system very similar to our
own. Planet Glick is very similar to Earth except for
the fo]lowmg differences. Glick’s axis of rotation has
no tit it mtates fro*n east to wpst, upp"_oxamate.l.}

fwice 2%

iithoe OO, whal woliid be the JL_,idU\\_ ocation
of it hye IOth{ re? [1]

I LTSS DU
a ‘am}(n.'{.v af Cslicls™s most CEERITRE

substances be located in the planet? {1}

Wik PETE WY lJLal

t a certain location on Glick, the star Zelda is
(}bserﬁ'ed at 377 above the hovizon. From this
information, what conclusion can you'draw abot
the fatitude and longitude of this location? {2]

3 o3 il

Ly

hemisphere E}Tﬁh
you obser.ve in the alt}

< at night, what changes might
e of the star Glofch? [1]

Base your answers to questions 39 through 42 on the
topographic map below. The map shows a location
where a series of students went camping using

pidnountain bicycles on July 1, 2003.

_ Key T ) N
1 Campsite 0 =31 2 3 miles
----Rike trail Contour interval: 20 feet

o~
c’?‘\'Uk

39 State the evidence shown on the map that G C 1
indicates that the area directly north of Hidden i
Lake is relatively flat. 1] -

40a State the general compass direction in which the ,_--

stream is Howing. {1]

N ok by /_r\'. E

TRA TRk - [a; £ TR v{hsu f”_' ar 1(_1_r_\£w Nal

Stater how the

aroute that will take the campors b

from their july Z campsite that witl involve the

least change In elovation, On the map above

draw a line that shows s route. Place arrows
on the rouke lne to show the direction that the
students will be traveling. [1]







